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he Clarke Chemical Company produces a special ki body oil that is widely used by professional
sports trainers. The oil is produced in three processes{Refining,Blending, and Mixing, Raw oil materials

are introduced at the beginning of the refining process. A "mountain-air scent” material is added in the
blending process when processing is 50% completed.

The following Work-in-Process account for the Refining Depariment is available for the month of July. The
July 1 Work-in-Pracess Inventory contains $1,500 in material costs.

Lanen 3e: Chapter 8 Process Costing Practice Quiz

Worl:-in-Process

Beginning balance (5.000 gal. 80%0 complete) $6.500
Materials (30,000 gal.) 12.300
Direct labor 14.500
Overhead 21.750

Ending balance (6.000 gal.. 2/3 complete)

The Clarke Chemical Company uses\weighted-average costing.

Required {use 4 decimal places for computations):

(a) Compute the equivalent units of production for Refining for July.

(b) Compute the material cost per unit and the conversion cost per unit for July.
(c) Compute the costs transferred to the Blending Depariment for July.

{d) Compute the July 31 Work-in-Process Inventory balance.
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{a) Mat EUP: 35,000; Conv EUP: 33,000
{b) Mat: $0.3943; Conv: $1.25

{c) $47,685

(d) $7,366

Feedback: transferred out: 5,000 + 30,000 - 6,000 = 29,000

(a) Mat EUP = (100% x 29,000) + (100% x 6,000) = 35,000

Conv EUP: (100% x 29,000) + (2/3 x 6,000) = 33,000

(b) Mat: ($1,500 + 12,300)/35,000 = $0.3943; Conv: [($6,500 - 1,500) + $14,500+ 21,750]/33,000 = $1.25
(c) 29,000 x ($0.3943 = 1.25) = $47,685

(d) Ending WIP
Mat (6,000 x .3943) 2.366
Conv: (4,000 x 1.25) 3.000 7,360

AACSB: Analytic

AICPA: FN-Measurement

Bloom's: Appfication

Difficulty: Medium

Learning Objective: 3

Topic Area: Using Product Costing in a Process Indusiry



@ he Clarke Chemical Company produces a special kind of body oil that is widely used by professional
spOrts frainers. The oil is produced in three processes (Refinina) and Mixing. Raw oil materials

q/ Blending
are infroduced at the beginning of the refining process. A "mountain-air scent" material is added in the
blending process when processing is 50% completed.

The following Work-in-Process account for the Refining Depariment is available for the month of July. The
July 1 Work-in-Process Inventory contains $1,500 in material costs.

Work-in-Process: lm

Beginning balance (5,000 gal. 80% complete) @
Materials (30,000 gal.) 1.300
Direct labor 14,500

Overhead 21.750
Ending balance (6,000 gal.. 2/3 complete)

The Clarke Chemical Company uses(first-in, first-out (FIFO} costin

Required {use 4 decimal places for computations}:

(a) Compute the equivalent units of production for Refining for July.

(b) Compute the material cost per unit and the conversion cost per unit for July.
(c) Compute the costs transferred to the Blending Department for July.

(d) Compute the July 31 Work-in-Process Inventory balance.
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Mat EUP; 30,000; Conv EUP: 29,000
Mat; $0.41; Conv: $1.25

$48,590

$7.460

(a
(b
(c
(d

L

Feedback: started & completed: 30,000 - 6,000 = 24,000; transferred out: 5,000 + 30,000 - 6,000 = 29,000
{a) Mat EUP = (0% x 5,000) + (100% x 24,000) + (100% x 6,000) = 30,000

Conv EUP: (20% x 5,000) + (100% x 24,000) + (2/3 x 6,000) = 29,000

(b) Mat: $12,300/30,000 = $0.41; Conv: ($14,500+ 21,750)/29,000 = $1.25

(c) Beginning WIP $7,500

Conversion cost to complete ( 1,000 x $1.23) 1,250  $8.750

Started & completed (24.000 x ($0.41 + 1.25) 39.840

Total transferred out $48.590
(d) Ending WIP

Mat (6.000 x .41) 2.460

Conv: (4,000 x 1.25) 5,000 7.460

AACSB: Analytic

AICPA: FN-Measurement

Bloom's; Application

Difficulty: Medium

Leaming Objective: 5

Topic Area: Assigning Costs Using FIFO
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are introduced at the beginning of the refining process. A "mountain-air sceni” material is added in the
blending process when processing is 50% completed
The following Work-ln .'_ 0CeSS 2
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Ending balance (4,000 gal.. 40% complete)

The Clarke Chemical Company use'weighted average cos@
Required {use 4 decimal places for computations):
(a) Compute the equivalent units of production for Blending.
b} Compute the unit costs in the Blending Department for the month of July. (HINT: There are three!!)
(c) Compute the costs transferred out o the Mixing Department for July.
(d) Compute the July 31 Work-in-Process Inventory balance.

ol because =

i) &
D) st accmund B units v costs | 82 | yg0 < TH2E

+famsfmﬂt —Qsm ﬁe,ﬁ..wﬂl DP/)?/T 12,480
e —

) W o unds + costs wn Elﬁ/l‘d"‘ﬂ DM DM:b:‘iZ-O

1 4
s
carried oV Grom Tuma (oo P”‘”L) Pl«uj;//’

I|IC-"



)

Ture

- PROCESS COSTING,
Tl Tuly
Bleurfluﬂ 1P, Zuv,

(WA Uethod ) — Hard

by 40 complER®

a ot I’uw‘l"a,(:'\ -7l g

FoL Bl@a&t;\q
Effort % This Period Equivalent Units
DM DL MOH DM | DL MOH
L,,__.-—-\,___/ e A
/600

A bl | =
s \\ 33 D @?_5‘{7 A ngL{mV
towo gal '

r GUDM
|| @50 Wl ad il

ent 1S C
by e 50T s | i b 20,215) Slondig =3
Jending WP, Tnv '
Blending W11y 70t £70730 | *21,799
gx 33 650 b
' o Rein . ] hf-?l‘(/
Cotts transt in From zemcw@% 4§, 30> o J 2
- 0.
M@’W? * ”16"9" e / %"-f:l ™M @)‘-, PV o
+ \
26 130
<5 pm  cow (37!54,«2 N/
g 1L (_d) e . p 2 |
£ I.U’f ’:f;‘:g_. {(\,_ 33}{50 Ve %-D? <.-—.=- IréjL + b?,@\eu': .
NG dc == peEh_ o Bledid
= J S - Y,



493 Hand (WA)

{a) Trans-in EUP: 37,000; Mat EUP: 33,000, Conv EUP: 34,600
(b) Trans-in: $1.64; Mat: $0.81; Conv: $0.63

{c) $101,640

(d) $7,568

Feedback; transferred out; 8,000 + 29,000 - 4,000 = 33,000

(a) Trans-in EUP: (100% x 33,000) + (100% x 4,000) = 37,000
Mat EUP: (100% = 33,000) + (0% x 4,000) = 33,000

Conv EUP: (100% x 33,000) + (40% x 4,000) = 34,600

(b) Trans-in: [($1.56 x 8,000) + 48,200)/37,000 = $1.64

Mat: ($5,920 + 20,810)/33,000 = $0.81

Conv: [($22,850 - 5,920 - 12,480) + 5,748 + 11,600]/34,600 = $0.63
(c) 33,000 x ($1.64 + .81 + .63) = $101,640

(d) EWIP:
Trans-in: (4.000 x $1.64) $6.560
Mat: -0 -
Conv: (1,600 x $0.63) 1.008

AACSB: Analytic

AICPA: FN-Measurement

Bloom's: Application

Difficulty: Hard

Learning Objective: 3

Topic Area: Using Product Costing in a Process Industry
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